“HIOE "R A E RN
(FRSFRRAL 4% 20 S B R A2 2447 )

N -

iR (i)

SEHELRE BMERREARA A%




4.7 s 2 6
(1) sy (@) T G 79 0.83

2. | a>h, Lk 2a=1 4 2b-1 9K/
3. Mok at=1 Xy 2043 YK/

A 212 RBRMHETR

RREALHANNELLBENFEREXRELT £0. 7 4 , I AT B
RAEAWERR?

75 LS HE Y B, Bfi 12T d — AR EN AP, 2

PR 1 HIER a>b, T4 a+c>be.

M2 R a>b,c>0, B4 ac>be;

HER a>b,c<0,FF 4 ac<be.

PR 1 200, A% 2 A RN E ( Bk 2 ) Bl — 45 (SRARE
X)), AEFTT IR B P T 1 AR A X i 2 .

FIFAA LR AINEEEN , 75 2k

R a+b>c, B4 a>c—b.

ix 2B, % R AL ] — JUA] LR &R — B3 A —Ls
(8 A B BB 5 X AR 45 LR RS 1 ik .

VeI 2 00, A A M (SRR B F— D IER, AFS
{1y 75 A 5 A 5, 10 [7a) P AR ( BB A ) ] — A B B FEGH
Ji L.

P 2 BRI AR ARILTL W,

P 1 I UEW]




f a>b, 1§ a=b>0, FJit
(ate) =(bte) = ghompmg ma=b30,
Bt
atesbe,

AL R LA B MR e B4R 1, g 2-3 FOR 32 a b 6B 1
S BIRFRLR A R B, a+e il b+e TEHOCRN L4395k 4 A7 5 B, 24
>0 B, LA FUR B /0 ) 45 288 o AT, BIRTE s 44 A Fi1 5 B 1y
U85 2 c<0 B, X A R B IR 1) 225248 | c | BN, BVAT 51 3% 44,
A'RR BRI E.

B, AR, R AR B BHXH L B 5 05 A FI A B H 1
S ]

——
4 B 4
a b a+c b+e
: [0V
c<0
4 B 4 B
a+c b+c a B
(2)
& 2-3

TR 3 R a>b,b>c, F4 a>c.
W B a>b,b>c,iB
a—-b>0,b-c>0,
LA
a-c=a-b+b—c=(a=b)+(b-c) >0,

B A8 a>c.

YR 3 BRAARER ML

AT LU BB B A S 13 k. an & 2-4 B, X F
T a b Fl e, BAFER £ HIX RS AL S B 1K C,BH a>b, B
VLR ATER B W30, XA K b>e, TLAS B FES C 40, Bt =
TRMNZEBIHRK A C 58 B FE A, B a>b>c.

c B A
c b a x
[ 2-4

FIFE A WL AT RAERI A0 4536 ¢

T

.(__;)-

JOHRE 7% L %2 ) 1k )
¥ 1 2.




PENR 4 IR asb,e>d, W4 ate>brd.
PRI 4 A Bk 1) i) A< 2% =G g .
WEWT R0y a>b,ed, liPER 1,759
a+e>b+e,b+e>b+d,
B MR 3,78

ate>b+d.

@ v

B3 RARECST <" s SRR T AR OL) R
| M.
| (1) T8 a<b,H4 a—5 b-5;

(2) 5 a>b, 4 a+d b+2;

b

(3) R a<b, B2 “% 5

: (4) I8 a>b, 4 3a-2 3b-3.
(1) RERSRAER 1, R%R a<h P RMEE 5, K%
B, B

a—3<b->35.

(2) BIERERAMR 1, RER a>b B A 4, F%

ik o .
' = o] AN \’
% (2) MEF A SHRDEH a+4>b+4,

£ 4 FEm ; !
ig%@%” s XA b+4>b+2, FF IAREA SR T 3, 7T LAFS 2

2, ik a+4>b+2. at+4>b+2.

(3) BRI 2, R % a<h PRAFIMBRLL-2, R %
- B,

e &
2 2

(4 BRI 2, FERPIARR 3, RSN
R

i 3a>3b,

- PRRC2) M, T L) |
E 3a=2>3h-3,




L Bl4 # a>b>0,e5d50, RIUEW] aeshd,

LR B a>b,e>0, BRI 2

1) 4 o J& A 45 35 1

; ac>be, Y2 it
‘ Iﬂ@s Ea C>d,b>0,?%- }!f. ”%(ﬂ’] l“'l IE'I A /:(15
| beshd ., Wil M e

§ ) BB A A, 15
R, AR MR 3 W18 acsbd, T 45 5 i )

IS RAEE 6+ 7 SRBEK 30-5 WERKT 2,5k « fBE

.
W B
(6x+7)—(3x-5) <2,
A
3x+12=<2,
Al
Sr=<2-12,
o
| —

3

FrLA x E‘Jﬁﬁ?ﬁ@%{x ‘xs‘_?,g}-

8 HHERA )
R ashood, BEA acob-d’ BT WAL, I E,

2%y 2.1.2

L B axb, AIMFE "B <" HA.
(1) a+1 b+1;  (2) -5a ~5b;

(3) 3a43 ____3b+2.




2 UM T BUAY I L 5 I , I

(1) R a<h @ bec, B4 a<ce;

(2) W a>b, I 4 a’>b*y

(3) #F a>b H c<d, M a+e>b+d.
SJgﬁﬁﬁ3w5EﬁﬁﬁwQW%$$T&ix%ﬂﬁﬁ%

27 g8 21
A EIHIALE

L AN TALRETER FRAEM.
(1) X a>b,ce R, # 4 ac>be;
(2) #0 & ac>be, 4 a>b;

(3) F a>b, 4 2a+5>2b+3;
(4) R a>b B c<d, #F 4 a—c>b—d.

2. RAESTRI<CHE
8 4w 2

= — -

1
9

(1) 3
(2) wEa>b, B2,

a=2 p-2, a+’d

-b+2.

—a+2

3. ﬂ'F?*J$?§=E\i.
1+2%
(L) —-3-_-"2%-1;
(2) 2-4x<3(3x—1).

ERBA 2275 ERHR Sl ZBFAT 2, R by B 36 .

4,

p fEhHBRA
1. #eb ;?:W/i"z:ﬁi’ﬁ%i?@ﬂﬁ,bb% 2ab-a® 5 b W KD,
5 EWTHF %:ﬁf!,ﬂzﬁ%’ﬂo:»lzxmm

b+2, 2a+1___ 2btl,

:




C TR

B 2-5(1) (2) F103) 4 B4 LM AR 8 B 1 B R, 76 4 1 2-5(4) B 7 o
A& AR IR

%@ % !__;5:_; “294

) @ 5 ”

47



